OUTLINE OF UCNBK

H Option of UCNBK

@ Key Specification (-K)
UCNBKG65
LKU25-100 (with 2-M8 bolts)

o

100

14

50

]

-

9

414

3=

[=2)
=

S
&

@ Metric Key Specification (-KA)

UCNBK100/200

LKE25-32-50 (with 3-M8 bolts)

—0.01
32 Zo.03

737

==

50
25

<=5

+ V-shaped guide.
+ 65, 100 and 200mm are available for the mounting width.
+ Availables angle is 0° to 70° at increments of 5°.

UCNBK100/200

LKU32-50 (with 3-M8 bolts)

of
=

—

! ¢¢14

30°)

+ High rigidity because of the box structure to keep the

—0.01
32 -0.03
(el

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Il UCNBK Structure and Assembly / Disassembly

UCNBK100:(9

UCNBK200:(3
UCNBK®65,200:®

UCNBK100:@)

@ Disassembly method of UCNBK
1) Loosen hexagon socket head bolt (@) and remove plate (UCNBK65:(2 UCNBK100:(9 UCNBK200:13)
and dowel pin (©).
2) Loosen hexagon socket head bolt (©) and remove stopper plate (UCNBK65,200:® UCNBK100:@).
3) Pull and remove cam slider (D) from cam holder (3) to the rear.

@ Assembly method of UCNBK
1) Assemble components in the reverse order of disassembly.
»Make sure that there is no foreign matter on the sliding area and assemble components.
*The clearance between the cam slider and the cam holder is controlled. Match the stamped
serial number on the holder and slider before assembly.
*When cam is disassembled and then reassembled, please do not forget to assemble all bolts

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

/UCNBK1 00-00 N Travel Working Force kN(tonf)| Spring Force N(kgf)| Return | Slider
S Standard Allowable Initial Final Force | Weight | Catalog No. w [’]
Working Force (Working Force N(kaf Kk
2954005 (one millon strokes)| (300,000'strokes) | Load | Load (kgf) 9
441 88.2 313.3 | 2819.7 | 3568
22) ‘ 32330 4-¢;8;52i7 28.3 4.5 (9.0) (319) | (287.5) | (364.1) 14.3 UCNBK 100 00
@ ¢ ‘ 7
T (‘.o,der [Catalog No. |[ W |- 68 |
’CE}‘ L UCNBK 100 — 00
l L N 2 Option . For key specification,
2 E* 7837 8 8 t" Option Code Specification refer to page 737.
i K Key attached for holder.
60¢0.05‘ -
17 240 KA Metric key attached for holder.

7,

(. order UCNBK100 - 00 - K

Refer to page 389 for detailed specifications of
ol 7 160 tapped holes and dowel pin holes (prepared
8D 100(W) hole, finish hole) for retainer.
= | ‘ HTable of Components M Spring Diagram
o
28.3 ‘ /@ No.| Description |Qty|Material and Remark *Spring used TM30-175 (2 piece)
Travel =) n : ’ *Spring constant  31.33N/mm (3.19kgf/mm)
© 2 —ts ‘ . 74 @ % g:z g:}s{: 1 Eg;gg with Graphite *Guideline of spring durability 500,000 strokes
1o} ® S 3 |Cam Holder 1 |[FC250 a : Spring Force at punch retraction of 5 mm
= - - e : Spring return amount when the punch returns 5 mm
;,;,r‘ ; Mm\ ; lj 3 @ |Upper Plate 2 |S45C with Graphite
o L AN— = t (® |Positive Return Follower| 2 |S45C(1045) )
> L [N Final 2819.7
65 (D |Stopper Plate 1 [S45C(1045) Load (287.5)
Spring Guide Pin 2 [S45C(1045)
120° L ® |Coil Spring 2 [TM30X 175 a %
\@ Stopper 2 |Urethane Initial 313.3
4-$13-420 @) |Cam Bottom Slide Plate| 1 |S45C(1045) Load "(31.9) [
6.3 ECam Diagram (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 130 e=7.1
@3 |Lower Plate 2 |Bronze with Graphite Length at initial load 170 Initial deflection 5
Plate 2 [$5400(1020) Free length 175
o ,{”?; % g s 22|Screw Plug 2 |S45C M12
3 3 —————%&—’73 ] N Bolts for assembly are not indicated. BSpace for removing
- ® ;/, -
a Q 28.3
2-$16H7 ! 40+0.05
2 140
UCNBK
100
769 770

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERGE AND FLANGE ) E
g N Workin i i
_ g Force kN(tonf) | Spring Force N(kgf)| Return | Slider
UCNBK100-05 Trasvel WOSr}(?RdaFrgrce w:\rlll?r\'uagcl’erce Initial Final Force | Weight | Catalog No. w (/]
(one milionstokes) (300000 Srokes) | Load | Load | N(kgf) | kg
441 88.2 313.3 | 2819.7 3835

2 225+0.05 4-$18-926 28.3 (4.5) 9.0) 31.9) | (287.5) | (391.3) 15.0 UCNBK 100 05

20 200 2-$16H7
7 — _
(X T i b Q Order \ Catalog No. H w \ \ [ \

i & UCNBK 100 — 05
C %

(] ‘ 8 N 2 Option . (S For key specification,

== }( 1 & 8 e t" Option Code Specification refer to page 737.

i @

L >
BRI (4‘< K Key attached for holder.
U J*\ﬁy,

32H7 125] €9
KA Metric key attached for holder.
60=+0.05
17] 240

7,

(‘. order UCNBK100 - 05 - K

Q
6.3 \";/

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.

M Table of Components

M Spring Diagram

771

‘:I_l_\) /\
g98 [ X
o
&
2 e
Ql
o4
6.3
4-$13-$20 15 110
6.3,
8
3| %
- o
@

140

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

No.| Description |Qty|Material and Remark «Spring used TM30-175 (2 piece)
() |Cam Slider 1 |FC250 with Graphite *Spring constant  31.33N/mm (3.19kgf/mm)
@] Cam Driver 1 [FC250 *Guideline of spring durability 500,000 strokes
3 |Cam Holder 1 |FC250 « : Spring Force at punch retraction of 5 mm
@ | Upper Plate 2 |S45C with Graphite e : Spring return amount when the punch returns 5 mm
(® |Positive Return Follower| 2 |S45C(1045) Final 2819.7
(@ |Stopper Plate 1 |S45C(1045) Load (287.5)
Spring Guide Pin 2 |845C(1045) 03748
(® | Coil Spring 2 [TM30X 175 * a8
Stopper 2 |Urethane Initial _313.3
@ |Cam Bottom Slide Plate| 1 |S45C(1045) Load (31.9) [
({2 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lenghatfialload 130) | _e=7.1
@3 |Lower Plate 2 |Bronze with Graphite Length at initial load 170 | Initial deflection 5
(9 |Plate 2 |SS400(1020) Free length 175
22| Screw Plug 2 |S45C M12
m Bolts for assembly are not indicated. .Space for removing
UCNBK
100
772

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

N Working Force kN(tonf)|Spring Force N(kgf i
UCNBK100-10 Travel Standagr’d AIIow(abIe ) Tnit; Fin(a|g ) I:I‘%t:lc? V?Igi(::;el:t CatalogNo. | W )
S Working Force |Working Force

(one millon strokes)| (300,000strokes) | Load | Load | N(kgf) | kg

225+0.05 441 88.2 313.3 | 2819.7 3537
2 200 pb18b2s 333 (4.5) 0.0) | (31.9) | (2875) | (360.9) | >3 [ UCNBK | 100 | 10
Q @ . . 82H7 2-$16H7 = —
‘ ‘ ’7 ‘ & Order \ Catalog No. H w \ \ [ \
@( J,L ~€>+ UCNBK 100 — 10
il \g+ _l_ \:@{ - g'é oni Option Specification (S For key specification,
| 8 ption
ol v E,i fa— o - (V] Code refer to page 737.
-~ i N J 8 - -
,7|:_1 I N K Key attached for holder.
O D
60+0.05 25 ) KA Metric key attached for holder.

7,

Qo UCNBK100-10-K

Refer to page 389 for detailed specifications of

tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
HTable of Components M Spring Diagram
P : *Spring used TM30-175 (2 piece)
o Des,c"ptlon by Mate"a! Al Remark *Spring constant  31.3N/mm (3.19kgf/mm)
@|Cam Slider 1 |FC250 with Graphite eGuideline of spring durability 500,000 strokes
() |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
@ |Cam Holder 1|FC250 e : Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |S45C with Graphite
(®) | Positive Return Follower| 2 |S45C(1045) Final 2819.7
(D |Stopper Plate 1 [S45C(1045) Load ~(287.5)
Spring Guide Pin 2 |S45C(1045)
® |Coil Spring 2 [TM30X175 a %
Stopper 2 |Urethane Initial 313.3
@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load (31.9) [
4-$13-420 {2 |Cam Bottom Guide Plate| 1 [Bronze with Graphite Lenghatfinal bad 130 | e=6.0
83 ‘ @3 |Lower Plate 2 |Bronze with Graphite Length at inttial load 170 Initial deflection 5
oy Plate 2 [55400(1020) Free length 175
R WCam Di 22|Screw Plug 2 |S45C M12
7] am Diagram i
- fo} 9 N Bolts for assembly are not indicated. Wspace for removing
- ® I o
" o N @
=
{(\:w, i
33.
2-416H7 40:0.05 :
9 140
UCNBK
100
- /
773 774

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

N Workin i i
_ g Force kN(tonf) | Spring Force N(kgf)| Return | Slider
UCNBK100-15 Trag/el WOSr}(@ndaFrgrce wé\rlllpr\'uagcl’eme Initial Final | Force | Weight | Catalog No. w [}
(| I
(onemilionshoies)| 300000 trokes) | Load | Load | N(kgf) | kg
& 225+005 4-$16-$26 441 88.2 3133 | 2819.7 | 3806
K“’ 20 200 2-#16H7 339 (4.5) 9.0) | (319) | (287.5) | (388.4) | 120 | UCNBK | 100 | 15
ey L \{r Qomer \CatalogNo.H w \—\ 6 \
e _T_ ‘Q/ UCNBK 100 — 15
9 © E,i;[ o | 5 88 \\'// Option o (S For key specification,
o N i © + f’_J 59 N Z .
(1 & (V] Option Code SESSHISSHRE refer to page 737.
K Key attached for holder.
KA Metric key attached for holder.
o Q| UCNBK100-15-K
Q Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
g HTable of Components B Spring Diagram
No., Description |Qty|Material and Remark 'gpring used T:\/l30;\l1/75 (2 pifcs)f/
g @ |Cam Slider 1 |FC250 with Graphite -Gz?dnjisgr:)sftzg:ing?:id?:bintr;m (53(50?0(?0 rST;::])LeS
@ |Cam Driver 1 |FC250 a : Spring Force at punch retraction of 5 mm
(3 |Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |S45C with Graphite
(® | Positive Return Follower| 2 |S45C(1045) Final 2819.7
(| Stopper Plate 1 [S45C(1045) Load (287.5)
Spring Guide Pin | 2 |S45C(1045) » 24500
6.3 (@ |Coil Spring 2 |TM30X 175 (249.4)
Stopper 2 |Urethane Initial _313.3 |
- Load (31.9)
@ |Cam Bottom Slide Plate| 1 |S45C(1045) Yo r——_ S
4913420 4 110 1] Cam Bottom Guide Plate| 1 |Bronze with Graphite M—H—ﬂ
Vi ‘ @3 |Lower Plate 2 [Bronze with Graphite Length at initial load 170 Inital deflection 5
I
(“@*@ . @ |Plate 2 |55400(1020) Free length 175
””” : A M Cam Diagram 22| Screw Plug 2 |S45C M12
= g @ G o N Bolts for assembly are not indicated. BSpace for removing
I o O S o N\
8 k{;} /\ - 9
o —1%
4010,05‘ 5.9 / 5
3 140
© 2-$16H7
UCNBK
100
\_ %
775 776

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

N Working Force kN(tonf)|Spring Force N(kgf i
UCNBK100-20 Travel g LUl ) bl [ | S
Standard Allowable Initial Final Force | Weight | Catalog No. w [/
S Working Force|Working Force

{one millon strokes)| (300,000strokes) | Load | Load | N(kgf) kg

2251005 309 44.1 88.2 219.3 | 2558.5 | 3192
200 | 4-$18-626 (4.5) (9.0) (22.4) | (260.9) | (325.7)

32H7 2-$16H7 2

20 |
S ‘ ‘ = \CatalogNo.H w \—\ [ \
o
K | ] _ o UCNBK 100 — 20
C
C

13.8 UCNBK 100 20

4
\_; T “g .
Mo I & N P ) Option . L& For key specification,
3 + ] t" Option Code . refer to page 737.
2l 4 - o 5| 8| 3
- ] ol | ~
1 @
[ 4 K Key attached for holder.
e R
N D
60005 25| /o3 KA Metric key attached for holder.
18 240

7,

(‘. order UCNBK100-20 - K

Refer to page 389 for detailed specifications of

tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
HTable of Components M Spring Diagram
8 No., Description |Qty|Material and Remark 'gpring used TMSOI-\:/SO (2 pi;écs)f/
g gam g"_der 1 Eng’o with Graphite -eﬁ?&"ﬁiﬁglsftzgﬁmgZiffbnnny" " (13,6030,?)0?220kes
3 am Driver 1 250
o | 3 |Cam Holder 1 |FC250 @ : Spring Force at punch retraction of 5 mm
@ |Upper Plate 2 |S45C with Graphite e : Spring return amount when the punch returns 5 mm
(® | Positive Return Follower| 2 |S45C(1045)
3 @ |Stopper Plate 1 |S45C(1045) Final 2558.5
3 PP Load (260.9)
Spring Guide Pin 2 |S45C(1045)
® |Coil Spring 2 [TM30X 150 « %
50 Stopper 2 |Urethane Initial 219'3
(& @ |Cam Bottom Slide Plate| 1 |S45C(1045) Load (22.4) | []
(12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 115 e=5.2
4413620 15 110 @ |Lower Plate 2 |Bronze with Graphite Length at initial load 147 | |Infial deflection 3
r2 ‘ (9 |Plate 2 1SS400(1020) Free length 150
o 22| Screw Plug 2 |S45C M12
e AL m Bolts for assembly are not indicated. Bspace for removing
ol ¢ QO B Cam Diagram
2lgl T I
e HOr %\
N L (8]
2-$16H7 ‘ 40=+0.05 % E
E 140
©l
UCNBK
100
\_ /
777 778

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) E
g N Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK100-25 Travel Standard Allowable Initial Final Force | Weight | Catalog No. w [’]
S Working Force (Working Force N(kaf K
(one million strokes) | (300,000 strokes) | Load Load (kgf) 9
a 2500 4-£16-426 441 88.2 219.3 | 2558.5 | 3430
@\ 20 200 2-$16H7 32.0 4.5 (9.0) (22.4) | (260.9) | (350.0) 15.0 UCNBK 100 25
~ ] i .
<€ g . w |-
;Q::I, $ g ‘. order L Catialog No. || -[ 6 |
l: | _l_ ‘ o UCNBK 100 — 25
o | 3l o o e
2o S 7} o388 g'é _ Option Soecificati (S For key specification,
O | Tl © 3 Option Code pecification refer to page 737.
P o X
Q‘ B K Key attached for holder.
32H7 25| /63
60+0.05
18 240 KA Metric key attached for holder.
o Q| UCNBK100-25-K
gj %I 2 Refer to page 389 for detailed specifications of
~ tapped holes and dowel pin holes (prepared
o "<§ hole, finish hole) for retainer.
& HTable of Components ESpring Diagram
P : *Spring used TM30-150 (2 piece)
. 2 No. Des.crlptlon Qty| Materla! and Remark «Spring constant 36.55N/mm (3.73kgfimm)
Q @ |Cam Slider 1 |FC250 with Graphite Guideline of spring durability 1,000,000 strokes
o (2) |Cam Driver 1 |FC250
i « : Spring Force at punch retraction of 5 mm
g ®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
© @ |Upper Plate 2 |S45C with Graphite
= (®) | Positive Return Follower| 2 |S45C(1045) Einal 2556.5
n .
@ |Stopper Plate 1 |S45C(1045) Load (260.9)
Spring Guide Pin 2 |S45C(1045)
63 ®|Coil Spring 2 [TM30X 150 a (22‘29%5’)
Stopper 2 |Urethane Initial_219.3
D |Cam Bottom Slide Plate| 1 |S45C(1045) Load (22.4) [
4-$13-$20 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengthatfinal oad 115| | _€=5.0 ‘
6 15‘ 110 @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 147 nitial deflection 3
o Plate 2 [S5400(1020) Free length 150
QQ 2 |Spacer 2 |SS400
Py lCam Diagram 3 |Screw Plug 2 |S45C M12 M Space for removing
8 5 @g = N Bolts for assembly are not indicated.
S LS
— k\\"/‘ ?;Z
Gl ¢
— —&
40+0.05 K/ &
2] 2 =
> 140
© 2-416H7 \
UCNBK
100
- /
779 780

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

4 N Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UeNBK100-50 'S g S ft, | il T il | Foroe | Welgh | CaaiogNo. | W | 8
(| I
(onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
20 | 200 ‘ 4-418-626 o (4.5) (9.0) (17.9) | (286.2) | (354.1)
3 32H7 2-$16H7 Y/\ 7 _
‘ ‘ ﬂ Qomer [ Catalog No. |[ W |—[ 6 ]
B “{:( § UCNBK 100 — 30
H() NG 33,
| k@{ < g'é . Option S (S For key specification,
o |: | i 3 u Option Code pecitication refer to page 737.
2l FH{———F——C—-9-1388
| ) o 7| T
E | o] K Key attached for holder.
=N e
KO A
60=:0.05| 25 /6_% KA Metric key attached for holder.
17 240

7,

(‘. order UCNBK100-30 - K

Refer to page 389 for detailed specifications of

tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
HTable of Components M Spring Diagram
P : *Spring used TMB30-125 (2 piece)
o Des,c"ptlon by Mate"a! Al Remark *Spring constant  43.86N/mm (4.47kgf/mm)
s @|Cam Slider 1 |FC250 with Graphite eGuideline of spring durability 1,000,000 strokes
é () |Cam Driver 1 |FC250
« : Spring Force at punch retraction of 5 mm
®|Cam Holder 1 |FG250 e : Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |S45C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045) Final 2807.0
(D |Stopper Plate 1 [S45C(1045) Load (286.2)
Spring Guide Pin 2 [S45C(1045)
®|Coll Spring 2 [TM30x 125 «
Stopper 2 |Urethane Initial 175.4
@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) ||
(12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengtatfinal load 93| | e=4.5
@3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
Plate 2 |S5400(1020) Free length 125
2| Screw Plug 2 |S45C M12
m Bolts for assembly are not indicated. .Space for removing
UCNBK
100
-
781 782

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

UCNBK100-35 N Travel Working Force kN(tonf) Spri.n.g Force !\l(kgf) Return Slifier
s w°§}(@3dgrgrce w‘ﬁu?magcl’erce Initial | Final | Force | Weight | Catalog No. w 0
(| I
818926 (onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
3 225+0.05 - -
ol 441 88.2 175.4 | 2807.0 3724
20 200 2:-$16H7 B3 ) (©0) | (179) | (286.2) | (3800) | 90 | UCNBK | 100 ) 35
] i AR e —
K ! R €, o [Catalog No. | W]~ 6 ]
E : ¥ T k\"r_l\ UCNBK 100 — 35
e 77]7 = 1f3¢g i For key specification
=Y ; —o-1 9 ® © g'/; . Option e . Y Sp! )
(11 [ ‘ 8 3 Option Code SESSHISSHRE refer to page 737.
Sl PN «
SaN O K | Key attached for holder.
5
32H7 ain é

60005 KA Metric key attached for holder.

7,

(‘. order UCNBK100-35-K

-

gl g] Refer to page 389 for detailed specifications of
< tapped holes and dowel pin holes (prepared
sy pa hole, finish hole) for retainer.
HTable of Components B Spring Diagram
o No., Description |Qty|Material and Remark 'gpring used TMSO;\:/ZS 22 piekcef} )
- " - *Spring constant  43.86N/mm (4.47kgf/mm
& ®|Cam SII-deF 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
(2 |Cam Driver 1 |FC250
© 3 |Cam Holder 1 |FC250 « : Spring Force at punch retraction of 5 mm
§ © @ |Upper Plate 2 |S45C with Graphite e : Spring return amount when the punch returns 5 mm
[s2]
- (® | Positive Return Follower| 2 |S45C(1045)
Final 2807.0
(2 |Stopper Plate 1 [S45C(1045) Load (286.2)
Spring Guide Pin 2 |S45C(1045)
6.3 ©® |Coil Spring 2 [TM30x 125 P %
Stopper 2 |Urethane nital 175’4
@ |Cam Bottom Slide Plate| 1 [S45C(1045) Load (17.9) | Il
4-$13-$20 15 100 ({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 93 e=4.2
63 ‘ @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Inital deflection 2
(‘{?G Plate 2 |8$5400(1020) Free length 125 |
W 9 BCam Diagram 2 | Spacer 2 |SS400 _
. Sl @ |Screw Plug 2 [s45C M12 M space for removing
ol S N o
@ g ’7@_7175{ y,\ m Bolts for assembly are not indicated.
« ‘ Y
5 N
10¢0.0*‘5 6:0 N “’?
3 130
ol
2-$16H7
UCNBK
100
- /
783 784

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

g N Working Force kN(tonf)|Spring Force N(kgf i
UCNBK100-40 Travel | gr oo roree 0 (and Spring Foree MaD) Return | suder |
S Work?r?gaFrorce Work‘i,r‘::;aFoerce LilideL FGEL orce eight atalog No. 0
{one millon strokes)| (300,000strokes) | Load | Load | N(kgf) kg
225+0.05 . 441 88.2 175.4 | 2807.0 3437
M Cam Diagram 39.0 15.8 UCNBK 100 40
- 20 200 4-418-626 o 9 (4.5) 9.0) | (17.9) | (2862) | (350.7)
™) o
© 32H7 2-$16H7 r’”\ © ~
7 ! A W —
= & Order \ Catalog No. H \ \ [ \
P A &/ N UCNBK 100 — 40
{IPS Y % N__| ¥
oA ™ .
i - \\' P Option L For key specification,
1 o = /i Option Specification
2 o ﬁjLi% o - (V] Code refer to page 737.
0|
K Key attached for holder.
KA Metric key attached for holder.
Order UCNBK100-40-K
&3 Refer to page 389 for detailed specifications of
gl tapped holes and dowel pin holes (prepared
. hole, finish hole) for retainer.
* HTable of Components B Spring Diagram
No., Description |Qty|Material and Remark 'gpring used TM30’-\:/25 (2( piecs)f/ )
- " - *Spring constant  43.86N/mm (4.47kgf/mm
o @ |Cam Sll.der 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
2 (2)|Cam Driver 1 |[FC250
(3 |Cam Holder 1 |FC250 a : Spring Force at punch retraction of 5 mm
: Spri 1 t when th h ret 5
" @ Upper Plate 2 [S45C with Graphite e pring return amount when the punch returns > mm
© (®) |Positive Return Follower| 2 |S45C(1045)
" Final 2807.0
(@ |Stopper Plate 1 |S45C(1045) Load (286.2)
g;] Spring Guide Pin 2 |545C(1045)
() |Coil Spring 2 |TM30X 125 o 24912
(253.9)
63 Stopper 2 |Urethane .
@ | Cam Botiom Siide Plate| 1 |S45C(1045) Lo 176
4-$13-20 (2 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lnghatfraload 3| | e=3.6
oa @ |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Inital deflection 2
L Plate 2 |SS400(1020) Free length 125 |
& 2 |Screw Plug 2 |S45C M12
§ m Bolts for assembly are not indicated. .Space for removing
2 g | 2
2-$16H7 40+0.05
2 120
UCNBK
100
- /
785 786

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

g N Working Force kN(tonf)|Spring Force N(kgf i
UCNBK100-45 Travel | gr oo roree 0 (and Spring Foree MaD) Return | suder |
S Work?r?gaFrorce Work‘i,r‘::;aFoerce LilideL FGEL orce eight atalog No. 0
(one millon stokes)| (300,000strokes) | Load | Load | N(kgf) kg
225+0.05 4-$18-26 441 88.2 175.4 | 2807.0 3690
42.2 15.0
200 2-#16H7 (45) 9.0 | (17.9) | (286.2) | (376.5) UCNBK | 100 | 45
‘, Q Order \ Catalog No. H w \—\ [ \
=7 . UCNBK 100 — 45
o g o o N P Option . (S For key specification,
- — & —o-1 f o 9 N A .
T 3 EICI l" Option Code e el refer to page 737.
K Key attached for holder.
KA Metric key attached for holder.

7,

Q| o UCNBK100-45-K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
g hole, finish hole) for retainer.
© . o
g HTable of Components HSpring Diagram
No., Description |Qty|Material and Remark  °SPring used TM30-125 (2 piece)
- - - *Spring constant  43.86N/mm (4.47kgf/mm)
§ N @ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
© (2 |Cam Driver 1 |[FC250
a : Spring Force at punch retraction of 5 mm
3 ®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
2 @ |Upper Plate 2 |S45C with Graphite
(5 | Positive Return Follower| 2 |S45C(1045) Final 2807.0
n .
(@ |Stopper Plate 1 |S45C(1045) Load (286.2)
Spring Guide Pin 2 |S45C(1045)
®|Coil Spring 2 [TM30X 125 a %
Stopper 2 |Urethane Initial _175.4
D |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [
4-$13-420 15 90 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengthaatfinalload 93| | e=3.6
6.3 ‘ (3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
e ) Plate 2 [55400(1020) Free length 125 |
{bﬁ‘ BCam Diagram 2 |Spacer 2 |8S400
8 J;,?: 20 o @ [Screw Plug 2 [S45C M12 M Space for removing
ol ¢ i
s 6 9 ‘(’)\ I\ Bolts for assembly are not indicated.
. {} ©
N Y]
oo N
S
2. 416H7 40+005
A 120
©l
UCNBK
100
- /
787 788

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

N Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK100-50 T’g’e' ylandard [ Allowable | initial | Final | Force | Weight [ CatalogNo. | W 0
{ {
(onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
2954005 6.7 44.1 88.2 175.4 | 2807.0 | 3669 | .o uenek | 100 | 50
" a00 2é18.626 (4.5) (9.0) (17.9) | (286.2) | (374.4)
H e 32H7 2-$16H7 BCam Diagram Q order [ Catalog No. |[ W |—[ 6 ]
ST1 30 UCNBK 100 — 50
—T— ”””””””” T — glé ) Option Soecificati (&5 For key specification,
o (] : g o o 3 Option Code pecitication refer to page 737.
S — —[ (—o+3i @ ¢ % 8 3
h ! g -7 2N S
E T e K Key attached for holder.
SN 0 e
i O
60:+0.05 25| /63 KA Metric key attached for holder.
16 240

7,

(. order UCNBK100-50 - K

Refer to page 389 for detailed specifications of

tapped holes and dowel pin holes (prepared
o hole, finish hole) for retainer.
& HTable of Components M Spring Diagram
2 No., Description |Qty|Material and Remark 'gpr!ng used Ig/lgg;\:/% (2( figs)f/ )
" - - *Spring constant X mm (4.47kgf/mm
2 ®|Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
Q (2)|Cam Driver 1 |[FC250
(3 |Cam Holder 1 |FC250 @ : Spring Force at punch retraction of 5 mm
. @ |Upper Plate 2 |S45C with Graphite e : Spring return amount when the punch returns 5 mm
2 (® | Positive Return Follower| 2 |S45C(1045)
Final 2807.0
(D |Stopper Plate 1 [S45C(1045) Load (286.2)
Spring Guide Pin 2 |S45C(1045)
= ‘ ©® |Coil Spring 2 |TM30X 125 o 4(225527653)
& o 230 Stopper 2 |Urethane Initial 175.4
(1 |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [l
4-$13-920 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 93 e=3.2
6.3 @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123
@ |Plate 2 |$5400(1020) Free length 125 |
22| Screw Plug 2 |S45C M12
o g m Bolts for assembly are not indicated. .Space for removing
g &
e
2-416HZ 40=005
132
2 120
UCNBK
100
- /
789 790

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

g N Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK100-55 Trag/el ySlandard | Allowable | nitial | Final | Force |Weight | CatalogNo. | W 0
'orkKing Force | Working Force
(onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
441 88.2 175.4 | 2807.0 3990
3 22555 4-#18-426 523 (4.5) 9.0) | (17.9) | (2862) | (do7.1) | 77 [ UCNBK | 100 | 55
; 2-$16H7
x Qomer [ Catalog No. |[ W |—[ 6 ]
UCNBK 100 — 55
C ‘ g N P Option o (S For key specification,
2w - \] (o1 5 8 3 - = ' 3| Option Specification
o R |: ] e g o 9 (U [ Code refer to page 737.
smeeadlle foesessasmaeoosss «,,;4\\ i K Key attached for holder.
© O 0
32H7 25 43 .
604005 KA Metric key attached for holder.
e 240
DO) >
E Q| o UCNBK100-55-K
6.3, O‘}L’* 15
' \V Refer to page 389 for detailed specifications of
ﬁt E | ‘ tapped holes and dowel pin holes (prepared
8 Il hole, finish hole) for retainer.
J\—H HTable of Components M Spring Diagram
30 J 5 No., Description |Qty|Material and Remark 'gpring used Igﬂgg'-\:/% (2( fi;cs)ﬁ )
E— - - - *Spring constant R 'mm (4.47kgf/mm
o @ |Cam Slider 1 |[FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
X (2)|Cam Driver 1 |FC250
3 |Cam Holder 1 |FC250 @ : Spring Force at punch retraction of 5 mm
™~ @ Upper Plate 2 |S45C with Graphite e : Spring return amount when the punch returns 5 mm
o
2 (® | Positive Return Follower| 2 |S45C(1045) }
L (@ |Stopper Plate 1 |S45C(1045) I'_:g:ijl (25567.'20)
g[ grm Spring Guide Pin | 2 |S45C(1045) .
TV G ® |Coil Spring 2 [TM30X 125 25527
63 ¢ (260.2)
Stopper 2 |Urethane Initial  175.4
4-913-420 (@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) | [
6.3 ‘ (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lenghatfnalload93] | e=2.9
<7 @] Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
R | 13 |Plate 2 1SS400(1020) Free length 125
N ,@7 BCam Diagram 22| Screw Plug 2 |S45C M12
o 3 i .
2 4 ’7@% S’r] 30 N Bolts for assembly are not indicated. BSpace for removing
: o -
R .
S Qi
2 < @
2_$16H7 \DTOto.os > ‘gz
3 120 —1
o v’ 132
UCNBK
100
%
791 792

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

e N Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK100-60 T’z’e' ySandard | Alowable | initial | Final | Force | Weight | CatalogNo. | W )
'orkKing Force | Working Force
(onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
225005 60.0 2‘44'5‘) fg&oz) (11775;; (2288067'20) (254322) 176 | UCNBK | 100 | 60
20 200 4-$18-926 HCam Diagram . . . . .
) 32H7 2-$16H7 v w |-
@\@ 30 & Order \ Catalog No. H \ \ [ \
T > UCNBK 100 — 60
s RN | I
e 33 - —
& o glé Option L || For key specification,
—l— | o i ° Option Specification
o w E,, j—(i 29 e o u P Code refer to page 737.
=N 4[ T4 23
@
E T o K Key attached for holder.
RS 7N
) a8
60005 25| 53 KA Metric key attached for holder.
16, 240
o \ order  UCNBK100 - 60 - K
®O®
83 /. Refer to page 389 for detailed specifications of
; OI 2 tapped holes and dowel pin holes (prepared
y < ) .
g ! ° 0 hole, finish hole) for retainer.
I o HTable of Components HSpring Diagram
L . .
: - No., Description |Qty|Material and Remark 'gpr!ng used Ig/lgg’-\:/% (2( ff;l?)f/ )
o " - - *Spring constant X mm (4. gf/mm
X2 ®|Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
= () |Cam Driver 1 |FC250
o 3 |Cam Holder 1 |FC250  : Spring Force at punch retraction of 5 mm
g o\ > @ Upper Plate 2 |S45C with Graphite e : Spring return amount when the punch returns 5 mm
© (® | Positive Return Follower| 2 |S45C(1045) 28070
A /@ i (@ |Stopper Plate 1 |S45C(1045) Egﬁjl (2862)
I I L N N " .
Tmma 37 m[ Spring Guide Pin 2 |845C(1045)
Q bt (A
WI PO dinit /4‘7 ® ® |Coil Spring 2 [TM30X 125 (22%8377-77)
JANN 240 Stopper 2 |Urethane Inital 175.4
@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load "(17.9) [
(12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length atfinalload 93 e=2.5
4-413-$20 @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
o3 19 |Plate 2 /SS400(1020) Free length 125
22| Screw Plug 2 |S45C M12
m Bolts for assembly are not indicated. .Space for removing
g 4
T2
2-$16H7 40+0.05 134
3 110
UCNBK
100
- /
793 794

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERGE AND FLANGE ) @
g N Working Force kN(tonf)|Spring Force N(kgf i
UCNBK100-65 Travel ¢} (tonf)|Sp : 9 .( 9f)| Return Sllfier
s wS}(@ndaFrd wAlllpwaEIe Initial Final Force | Weight | Catalog No. w /]
'orkKing Force | Working Force
pos o (one milionstokes)| (300000 arokes) | Load | Load | N(kgf) | kg
) +0.05 4-$18-$26
<l 441 88.2 175.4 | 2807.0 4977
@\ 201 200 2-#16H7 709 (4.5) 9.0) | (17.9) | (2862) | (s07.8) | 70 [ UCNBK | 100 | 65
|
/@\ | ) e w —_
lel {; & Order | Catalog No. || -l ¢ |
C 1 & I @ UCNBK 100 — 65
‘ g o
2 e 774[73—@ E 8 8 2 1 /. §\'é _ Option coecitiont (S For key specification,
(] —+ ; @ =3 Léé (V] Option Code pecitication refer to page 737.
¢ 9 B *’ " o2
o1l ”f{;}j w - ‘ - —@ K K ttached for hold
@ Y. N © ] T—a ey attached for holder.
O Y
32H7 25 63 I:
60-=+0. |40 |
o KA Metric key attached for holder.
16 240
0 -
\ order  UCNBK100 - 65 - K
6.3
Refer to page 389 for detailed specifications of
QI tapped holes and dowel pin holes (prepared
S hole, finish hole) for retainer.
HTable of Components ESpring Diagram
No| Description |Qty/Material and Remark  °SPring used TM30-125 (2 piece)
- - - *Spring constant  43.86N/mm (4.47kgf/mm)
o @ |Cam Slider 1 |FC250 with Graphite Guideline of spring durability 1,000,000 strokes
& @ |Cam Driver 1 |[FC250 Soring Force at sunch retaction of &
Q) a : Spring Force at punch retraction of 5 mm
i~ LT ‘gg\ ®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
R R 5 N @ |Upper Plate 2 [S45C with Graphite
] 8 (®) |Positive Return Follower| 2 |S45C(1045) .
i \a Final 2807.0
S N (@ |Stopper Plate 1 |S45C(1045) Load (286.2)
ENTHIERR Spring Guide Pin__| 2 |S45C(1045)
< T ‘ ®|Coil Spring 2 |TM30X 125 a %
68 22 2 Stopper 2 |Urethane Initial _175.4
255.94 () |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) []
4-$13-620 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 93| | _e=2.1
os 15‘ 80 (3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 |nitial deflection 2
y . Plate 2 |85400(1020) Free length 125
[O-Q WCam Diagram @ |Screw Plug 2 |S45C M12
| i 30 .
o o m Bolts for assembly are not indicated. .Space for removing
IR .
= O
F o
. . e
z
2-$16H7 (100 149
3 110
UCNBK
100
%
795 796

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

e UCNBK100-70 N Travel Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
s WOSr}(quaFrgrce W é\rlllpr\'uagcl’erce Initial Final Force | Weight | Catalog No. w /]
(| I
(onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
441 88.2 548.3 | 2741.5 5625
225+0.05 : 58.5 15.9 NBK 1 7
” - i1 o BCam Diagram (4.5) (9.0) | (65.9) | (279.6) | (574.0) uc 00 | 70
% 20 — s —_—
5 9 32H7 2-416H7 & Order \ Catalog No. \ \ w \ \ [ \
1 UCNBK 100 — 70
el 4 fcati
,,,,, — ( " o 5\' AU Option Soecificati For key specification,
(] i | g o LN 3 Option Code pecitication refer to page 737.
IE - — =l
E ; @ K Key attached for holder.
N o
60+005 25 /GAS KA Metric key attached for holder.
16 240

7,

10

(. order UCNBK100-70 - K

Refer to page 389 for detailed specifications of

Feawd r ;
o) A 4
~ == i tapped holes and dowel pin holes (prepared
o — - hole, finish hole) for retainer.
[/\ ‘ HTable of Components M Spring Diagram
40 P : *Spring used TMB30-100 (2 piece)
o Des,c"ptlon by Mate"a! Al Remark *Spring constant  54.83N/mm (5.59kgf/mm)
@®|Cam Slider 1 |[FG250 with Graphite Guideline of spring durability 1,000,000 strokes
% ) (2) |Cam Driver 1 |[FC250
Rl 5 a : Spring Force at punch retraction of 5 mm
- \\ g @ |Cam Holder 1|FC250 - - e : Spring return amount when the punch returns 5 mm
by 1B\ ) @ |Upper Plate 2 |S45C with Graphite
= i (® |Positive Return Follower| 2 |S45C(1045) ,
; @ U Final 2741.5
) (D |Stopper Plate 1 [S45C(1045) Load (279.6)
i =——r Spring Guide Pin | 2 |S45C(1045)
[t} i e - -
m[ i ;L ”L B4l = ® |Coil Spring 2 [TM30X 100 .
JAN IS 240 Stopper 2 |Urethane Initial 548.3
@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load "(55.9) [
(12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengh'atfinalload 75| | e=1.7
4-$13-20
oo 15 80 3 |Lower Plate 2 |Bronze with Graphite Length at initial load 95 Initial deflection 5
' \ Plate 2 |$5400(1020) Free length 100
KA 3
FQF@ 22 |Screw Plug 2 |S45C M12 - . )
o e m Bolts for assembly are not indicated. pace tor removing
i 1O s
2-$16H7 40+0.05 142
9 110
UCNBK
100
/
797 798

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



